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Element of Financial Management

(focig ge=1 & doa)

Bachelor of Commerce (B.com-10/16)

Second Year, Examination, 2019
Time: 03 Hours Max. Marks: 80

Note: This paper is of Eighty (80) marks, divided into
two (02) sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION A/ Gvs—&
(Long-Answer-Type Questions) (<78 Ic<id ¥3+)

Note: Section 'A' contains five (05) long-answer-type
questions of fifteen (15) marks each. Learners are
required to answer any three (03) questions.

(3x15=45)
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What is meant by Financial Analysis? Discuss its
objects and procedure.

facia fagovor O @1 e 2?39 Se¥ 9 B
Jgfd &1 9uiF BT |

What is meant by working capital forecast?
Briefly explain the techniques used in making
such forecasts.

Frfefie 4o qaigae & @1 oM g1dr 2° §9
UhR &AM H ugdd Al @) e @man
BIFSTY |

The following us the Balance Sheet of Abhishek

Ltd.
Balance Sheet

Equity share 8,00,000 | Intangible 4,80,000
capital Assets
Reserves & 4,00,000 | Fixed Assets | 11,20,000
surplus
Mortgage 6,40,000 | Investments 80,000
Bank over draft | 80,000 Stock 2,40,000
Creditors 3,20,000 | Debtors 2,40,000
Provision for Tax | 1,60,000 | Bank Balance | 2,40,000

24,00,000 24,00,000

Calculate the following ratios
1. Liquid Ratio

1. Current Ratio

1. Solvency Ratio

v. Gearing Ration
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e faear
FHAT 3 Yol 8,00,000 | 3Md wHfeTl | 4,80,000
o Ud SR | 4,00,000 | TRy 11,20,000
Jegfeaat
EESEY 6,40,000 | faferarT 80,000
g arfefaey 80,000 b 2,40,000
A eR 3,20,000 | e9eR 2,40,000
PN P foru 1,60,000 | d® 9y 2,40,000
YT
24,00,000 24,00,000
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4. From the data given below prepare a fund-flow

statement and the schedule of working capital

changes:
Balance Sheet 31 December
Liabilities | 2016 2017 Assets 2016 2017
Rs. Rs. Rs. Rs. Rs.
Share 1,00,000 | 1,20,000 | Land & | 1,00,000 | 95,000
Capital building
General 25,000 | 35,000 | Plant 75,000 | 84,500
Reserve
P/L Alc 15,250 15,300 | Stock 50,000 | 37,000
Bank 35,000 | ------- Debtors | 40,000 32,100
Loan
Creditors | 75,000 67,600 Cashin | 250 300
hand
Provision | 15,000 17,500 Bank | ------ 4,000
for tax
Goodwill | ------- 2,500
265,250 | 2,55,400 2,65,250 | 2,55,400

Additional information:

(a)

2017.
(b)
(c)

16,500.
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Depreciation charged on plant was T 7,000.

Dividend of ¥ 11,00 was paid during the year

Provision for income tax made during 2017 was ¥
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3T Uecd FHR! I BUs—aerd faaxor qor wrasie

goll # uRRade &1 gl dIR BIFI:
e faear
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5.

From the following data calculate:
(a) P/U Ratio
(b) Profit when sales are ¥ 200,000
(c) New break-even point when selling price is
reduced by 20%
(d) Sales in ¥ to earn a profit of T 40,000 after
reducing selling price by 20%.
(31) ATT—HTAT IrFUTd
(@) < 19 f38pT 200,000 BT |
() <19 a1 Feg 20 ufoer@ 9 &8 @R far S ar
AT IeqTe HH—wR fag
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Section B/ (Hvs—%)
(Short Answer Type Questions)
(eTg SwRI arel ged)

Note: Section ‘B’ contains eight (08) short-answer
type questions of seven (07) marks each learners are
required to answer any five (05) question only.

(5x7=35)
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Mention five items each of receipt and payment

in Cash Budget.
RAIPs dofc § Ui Td YO &l 5—5 Ha&l &l
ool DI |

What are the main functions of Finance

Management?

o gewem & g &l aar 2°

Explain briefly Stable Divided Policy.

Rer amer AT @1 deg # 9y |

What are the important profitability ratios?
MRS & TS U T &7

What is Break-Even Analysis?

Iaared AH—wR fageiyor o7 27

What do you mean by Capital Budgeting?
Gofl goTed 9 MY T A 87

Explain briefly ‘credit policies’.

S0 AIfd BT HEY H A |
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8. What is inventory re-order point? How it is

determined?
b G e g @1 87 39 &9 o fhar
ST 87

skesfeskeskskok
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